STELLA GRACIA SCHOOL
PRIMARY 3

MATHEMATICS

Choose the right answer by clicking a, b, c or d!

1. 2,453
Which digit is in tens place?

Q. 2 b. 4 €: 5 d. 3

2. What is 6000 + 800 + 50 + 7 in standard form?

a. 6857 b. 6887 c. 8677 d. 6587

3. What is the sum of 4000 + 500 + 70 + 3 in words?
a. Four hundred five thousand seventy-three
b. Four thousand five hundred seventy-three
c. Four thousand seven hundred fifty-three

d. Four thousand three hundred and seventy-five

4. What is the expanded form of number 53177
a. 5000 + 30 + 10 + 7
b. 5000 + 300 + 10 + 7
c.500 + 300 + 7 + 1

d. 5000 + 3000 + 10 + 7



